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Paper COM HC- 3026/COM—RC—3026
~ (Income Tax Law and ,Practice )
Full Mqusf: 60
Time : Three hours -

Th_ef Jigures in the margin indicate
Jull marks for the questions. -

_Answer either iri English or in Assamese.

1. Answer any seven of the followmg questions

as dlrected o : - 1><7 7

(a) As per ‘sectlon 2(7), a person_ by,whom
any tax or other sum of money is payable
undcr the Income Tax Act is known as

' (Flll in the blank)
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A 2(7) PR, SR A ST R

- I 9 Wt o R ol e i ol 1 () Agricultural land in a rural area in India
»WK@(.‘@QS——— @%T@| (ff/ﬁfjﬁmaa"f) | . in excluded from the definition of .
« : .. “Capital Assets”.  (State whether the -
(b) “Assessment Year means the period - : . statement is true or false) -
starting from 15t April.and endmg on : ‘ o - - S
—— of the. next year (lel in the blank) - ‘ , SIS ARY IR I/"'\g\g FREN ‘W@ _
. - T e ewig ol IR | ‘
; Wﬁw’amft@ﬁrw «ﬂfé!awas o | | L (R ew - ew GEd )
B4 | & W 37? ?ﬁ‘)’ =) . (g) Section 10 of the Income Tax Act deals
. (¢) Perquisites cannot be given in monetary S - with —— income. (Fill in.the blank)
form.” ©  (State whéther the | I A 10 48l —— S TS T |
‘ statemer?.t is true or false) \ (A 32 759 )
OIS AR (Perquisite) 5[, NI | L v
et AL ( Cfees! o o oeT G W) : - (W) Income from the sale of a portion of

_ fixed assets is-taxable under the head .
(Fill in the blank)

(d) Income—tax is'an-annual tax on .
(Fill in the blank) ,

W T —— I SRS IS 9 @Ol |
Eosiikall (T 3% 759 ) ﬁfﬁﬁwﬁﬁﬁﬁw\*{ﬁﬁ%ﬁc‘ww— '
- reR wfiTe I|[@ = |

(e) Residential status is determined with
reference to the individual’s physical

‘presence in India. (State whether the - '
(i) - The year in which incomé is earned is -

Statement is true or false) : d th
A ‘ . known as Assessment year and the year
W TR TIOIFS *n@ﬁas %ﬂ% fefe - in which it is taxable is known as

(em%h?qu).

I (I3 TPTEA I,iil I % s o B ' Prev1ous year. (State whether the
(Cfeehr o5 @ 8% & 39) o | statement is true or false)
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)

()

RS T S W 3 T OFF A I

Under the Income Tax Aet 1961, What
is the status.of Gauhati Un1vers1ty as

- a ‘Person’ ?

Wwﬁa 1961 Wﬂﬂﬁ IR ﬁsmeamﬁ
ﬁ‘ﬁﬁmmﬁs@?

Tax Liability of an AsseSSEe depends (l‘

upon his/her Residential status.
' o (State whether the
statement is true or false)

qﬁﬁmmwfﬁﬁwm@ammﬁ
ﬁf‘{\‘a‘?ﬁ_ﬁWWI |

(@f@ﬁ? OF 7 T5% G 7))

AgriCultu-r‘aJ income -is taxable under
section 10 (1) of the Income Tax Act,
1961. (State whether the
. .statement is true or false)
RIS WY, WFH AR 19613 10(1) 4t
O I A |
(Gfees! om 1 wog t?mzf ol
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2. Answer any four of the followmg questions ;
' : 2x4=8 -

wmm«wﬁmmﬁv@mﬁm

(a) Explam the term short term cap1ta1 |
gain’. : L

‘mﬁ{ﬁﬁW’aWﬂWWl

" (b) State the meaning of Aseessment year
as per'the Income Tax Act, 1961.

"Wﬂﬁﬂ 1961 wﬁmﬁwﬁwwﬁ
feran|

(¢) Explain the meaning of long term
capital gain.

Wwﬁww¢WW|

(d) State the meaning o_f “Uniform Previous
year’ as per the Income Tax Act, 1961.

| o S, 19615t amﬂvﬁﬁm’a_ -
Wﬂf%lvm o

(e) State the meaning of incor_ne. ‘
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Xiij Define “Person” as per Income Tax Act, -

1961.

| iR ?311,33,':-1961 Wﬁ gfe's wwer W N

"~ (g) State ‘the meaning of'”ag’x.'icultural
- income. ' '

FRere i Y ot

" (b Define ‘Assessee’ as per Income Tafoct, '

' 1961.

ST e 1961Wﬁ‘aﬁmmmf%’w<w a

fovat)

3., Answer any three questions: 5>;3=15 '

(a). Explain the steps il}\?olved in the

determination of -Gross' Annual Value
of a House Property: .

L1 | . |
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"(b) :AFrovm ‘the following information of
Umacharan Pandey for the financial

. year ended on 31st March, 2022;
compute his taxable income for the.: '
Assessment Year 2022-23:

- {i). - Umacharan Pandey is a resident
- -and ordinarily resident in India. .

. ~. (@ .Be is aﬁxpart,neij in a limited liability -
© 7 partnership. His"sharé of profit:
from the firm is Rs. 14,00,000.

(i) He is a member of a Hindu -
" Undivided Family. His share
of profit from the HUF is

" Rs. 7,00,000. " R

(iv) During the previous year,
Umacharan Pandey--received a
scholarship of Rs. 80,000 from
“Taxmann Education Society.

(v) ‘He is employéd by a company on "
part time basis. Annual salary
(after” standard deduction) is
Rs. 6,00,000.

(vi) Interest on Government securities .

is Rs. 90,000. ‘
"(vii) He. is eligible for a deduction of
' Rs. 30,000 under section 80C.
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31 =m§ 2022 mﬁmwww%w

T TABIY +i0ed woTe WAl SYRITT =,
2022-23 aﬁﬁeﬁ@a{aw cﬁwmﬁl -

o e =0

(z) W«Tﬁma@ﬂ‘aﬁmmwmq
AP | ‘

) e <ot M o el oS

ST | SV Pl (ST FIS O
14,00,000 Bl

- ,}(iii) e @B GRS B R (HUF)
: 7w | HUFS il (S8F FAeT oA
7,00,000 5| '

(iv) WWW W‘T Wiy

- Taxmann Education Society 4l
80,000 53 3¢ A= IRz

(v) e GBI @IITe TR R AR
| Wlwwﬁ%cﬁwaﬁ?ﬁw
6,00,000 53t 1
(ui)masﬁrﬁﬁm%a—goooo Bt |

(vii) 4Rl 80CT WT® ($6T PO S
sifse. 30,000 Bt |
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' Briefly explain various heads of incorrie..

()

o Explam the meaning of “Capltal Asset”
- .as per Section 2/(14) of the Income Tax
- Act; 1961.

R, 1961-3&1312(14)@{5@ %ﬁﬁ

W%Wﬂf%ﬂl

'Satlsh Kumar owns a residential house

property in Mumbai. It is let out to
Anand Ltd. at a monthly rent of
Rs. 40,000. Municipal value of the
property is Rs. 2,20,000 and Fair rent
is Rs. 4,80,000. Anand Ltd. pays
municipal tax. On April 7, 2021, rentis .
increased from Rs. 40,000 per month,to
Rs. 50,000 per month with retrospective
effect from April 1, 2020. Satish Kumar

- gets Rs. 1,20,000: (being arrears of rent
- for the financial year 2020- 21) on Apnl
- 20, 2021 '

Find out the net mcome ef Satish Kumar

' for the Assessment year 2022-23 on the -

assumption that his income from other
sources is Rs. 8,00,000. - -
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ﬂ@ﬁwm@wmww;

W%mwﬁﬁﬁwwmooq
Wwﬁmmlw@cﬁm.

©2,20,000 5! SIF: TRY SIS 4,80,000 B

- @i'wﬁﬁmtﬂﬁwwmlaﬁﬂ
7, 2021 SiR¥® WA wiet 40,000 BT
o1 50,000 TP 3% 3 2 o IR Boiet

1 g @fte 1, 2020 OIRRT 1t Réiw 3

' 2020-21% ! ISl BTt 2021 R 20
«ﬂfﬁﬁ@ﬁmﬂﬂﬁm 120000325151@1.

N - R ,

wmﬁmawmsoo 000 &I (g 4
%1 2022- zsﬁmcfa#awﬁﬁwaqr
mﬁm«t ¥

Ramesh Takalkar, who resides in
- Mumbeai, gets Rs. 6, 00 000 per annum
as basic salary.. He receives.
Rs. 1,20,000 per annum as house rent
allowance.
~Rs. 1,00,000 per annum. Find out the

amount of taxable house rent allowance |

" for the assessment year 2022-23.

Rent paid by him is

 Contd.

T o e

‘W@WWWW@ 6,00,000
.quﬁmﬁsmmnmmw .

o Wwﬁsm 1,20 ooo%asrvrmamm

(9)
c. -~employee He gets Rs. 6,00,000 per
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1,00 ooom«wwﬁmzom-

| 23ﬁmﬁmmmamﬂmaw
wﬁamwn o

Abhinandan Sukla is .a Govemment '

annum as basic pay. In addition, he .
receives Rs. 72,000 as enteértainment
allowance. His actual expenditure on
entertainment for: official purposes,
however, exceeds Rs. 75,000. Find the
amount of entertainment allowance that

- he can claim for deductwn

Wmawmﬂ%wﬁt S8 I
6,00 oooqamﬁsmvnm—ﬁm@ o8
7zooo memﬂ A

.Wzﬁﬁ FGQWWW

75,000 5 iR =
mmwwwmwmq

| m?ta?fiaﬁmﬁcﬁaw
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' (h) Wr1te a note on the Deductlons'.

available under sect1on 24 in

connectmn w1th 1ncome from house ‘

: property

mzmw@lrm%waﬁ@w%w

: W\smqﬁ W,M|

, 4 - Answer any three questlons IOXS=3‘O '

 facsicr ot o e B

(a) Describe the prOcedure of computation

of short term and long term capital

~ gains as per. the provisions of the Act.

mﬁmﬁmﬁwﬁwﬁﬁw%ﬁ ;

3 41

. (b). The following are the particulars of.

income of Mr. Narendra Singh,

employed in a pnvate limited company
in ‘Kolkata, for the year ended on 31st
March, 2022:

(i) Basic Salary Rs. 90, OOO per
“month -
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@) DearnesslAllowance Rs 40,000

per month

(iii) Enteﬁment Allowance

‘Rs. 10, OOO per month .

: liv) _Children Education Allowance '

including hostel expenditure :
Rs. 500 per month per ch1ld for 2

children

: (v)‘ Medical Allowance Rs. 1,000 per

‘month

* (vi) Transport Allowance : Rs. Q',OOO

per month

(vii) City Compensatory. Allowance

Rs. 6,000 per month

(viii) Tiffin Allowance : Rs. 5, 000 per
* month. :

- Compute his income from salary for
. the Assessment Year 2022-23. |

&) o Bie= 31 W6 2022 '@rﬁax@ww
;WWWWWWW

() s{q-{m szrf‘@goooowl
fi) Ww ﬂﬁﬁloooo 5l
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"(iv) ﬂ@aﬁ*ﬂaﬂsmww sz%m
ﬁfﬁﬁi@ﬂf@?{ 500%1‘ wﬁ@am| - | Particulars - Amount Particulars Amount’_ o
(Re)  (Rs) () |(Ree) _(Rs) G|
(v) fﬁﬁivn aﬁs snf‘{ﬁ 1 OOO "G?FTI %eé‘lgcrial«%xpenses : ’26,800 Grqss Proﬁts -8,31,000 | . -
Bad Debts - 44000 |Commission 17200
(vt) Ww ﬂﬂiﬁzooo L R
WI gg%tandmg Incomé Tax 4000 %r_:l)%rage' “74,000
(W) “"W "‘ﬁ%"B‘T W ‘a‘n‘f\ﬁ?} 6 000 qu“ . |Insurance (aﬂt) 1,200 |Sundry Receipts - 5,000 |
Rt t‘iﬁsé%ﬁ - 5200 fgﬁdaﬁ? o 22,000
o ividend receiv ,
(vlu) ﬁ?ﬁm ?FF{E aﬂ‘ﬁr 5,000 Wl |Salry to Joy Prakesh * 1,02,000. 108 shares - '
- | oY ST TR Wﬁ%ﬂﬁ 89 A
- 2022-23 ﬁW‘T W?ﬂ'@ C@\W ‘W@QT Preine gllft\%%% gr;‘q%v%%raﬁ 8,000 Interest on Debentures 76,000
. WW ﬁcﬁ Wl | Medical expenses of . 84,000 |¥IE 8RO T
: Joy Prakash’s alhng o :
C : i ) mother’
(c) From the fdllowing Profit and Loss Account %mw W
of Joy Prakash (Age: 45 years; resident) Inter;:;;f nhCagital o o
for the year ended on 31st March 2022, _ %y Wﬁasﬂﬁm 46,000
| ascertain his Gross Total Income. for the gﬂﬁ ™ » -
: Assessmen-t Year 202223 ; W%[;%Clatlon - 96,000
< Advertisement Expend1ture l4 000
31 6 2022 BIRIS SR TG AR T Reom 8
AP R T Contribution to
(I 45 = A were fra wre Employees’ Recognised - .
C?ﬂ?ﬁﬂﬂ oo Provident Fund 26,000 |
ot 2022-23 4R 74 A i AoHe
cded v WW e w1 8 Net Profit - 521200
» | ~ Total 71025200 |Total - 10,25,200
4 (Sem-3/CBCS) ITLPHC/RC/G 14 L — _’ - — —
" 4 (Sem-3/CBCS) ITLP HC/RC/G 15




- Other mforniétion,ﬁ--lt
SRy

i) The -amount of ¢

§ allowable is Rs. 74

. Income Tax Rules. -

€preciation

Wﬁﬁ. 51!3?1]‘@? W?pjf‘\‘mw ’UW : ’fﬁﬂT‘T ‘.

74,300 5]

(@) General €xpenses includes
Rs. 6,800 being the cost of -
. Permanent entrance gate of the
- residence of Joy Prakash. . '

T R I N 2l R
T IR TGS V2% 6,800 Ll
(it) Joy Prakash pays Rs. 9,000 é.s

premium on own’ life iy
policy of Rs. 1,00,000.

1,00,000 531 e Sk Sy i

e TR 9,000 By
Rowst o frc | %m b

Surance
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»300. as per.

mw@soe'mmﬁw-wmﬁ |

S -

of losses."

“(e) Explain the mode of set off and carry forward.

>

(TIPOIA set off W% carry forward < SRR IR

- (f) Write short notes on the following:

| o . 5+5=10
©eTS AN evive 53 Bt o s
f) On-line filing of returns of income
. (i) Permanent Account Number

EEIRE Lok T

() Ramesh is a citizen of India.- From the .

information given below, find out the net
income of Ramesh for the assessment year
. 2022-23 on the assumption.that (i) Ramesh
is resident and ordinarily resident in India,

(ii) he is resident but not ordinarily resident -

in Indid, (iif) he is non-resident in India:
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T GEH SRS AR | Wt firm wAERT #)
2022-23 {4t 34 10 TR 23S i Fefy
T AR @ () T o A SR A
AT, (i) I e B B e At 757,
(i) TG G& S :

Interest on fixed bank deposit in Punjab
National Bank, Guwahati Rs. 6,00,000

STRITT NG AT @F© Z T eopme o
6,00,000 Gt o

Income from agricultural operations in Nepal
(the entire amount is directly received in
Nepal and later on remitted to Iran for
investment purposes, however, no income
is generated during the year out of thig

investment)

(Agricultural operations are controlled
from India by a team of professionals)

Rs. 12,007000

CPAIeTS PG PERI 211 I (FsieTs 53z
I 2ie Wwﬁﬁmmm%%mm
S T foe30 Te R st @it spae
Tesife @@ 713)

(TSI FIGRIER G5 opimy Vo ARl Sleaea
#[l 7@ 91 =) 12,00,000 5 |
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(h)

Salary from UNO Rs.18,00,000

AR ol 8% 799 18,00,000 Bl

- Income from house property situated in

Chennai (rent received in Sri Lanka but on -
the next day, it is remitted to India)

Rs. 9,10,000

BARS SRIFS 2 [l Oiw (SI6! Ao
AN 27, e fiefi, T orvt sivewtte skt =)
9,10,000 Gl . .}

Pension received in London (service was
rendered in India with a foreign country)
Rs. 80,000

L FISTO e (DT (61 Roet 3139 I oRees

Gl SR C2feeT) 80,000 5

Briefly explain ang; five forms of Return of
Income. :

SR SRS Rtz oo T 53 g <

14000
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